1	Match the quantity words1–5 with the household goods a–e.
1___ 2___ 3___ 4___ 5___
1	can of			a	shampoo
2	bottle of			b	washing powder
3	packet of 			c	fizzy drink
4	box of			d	toothpaste
5	tube of			e	crisps
2	Choose the correct words.
1	How many / much / some milk is there? 
2	There isn’t any / some / many coffee in the jar.
3	There aren’t any / are one or two / are a bit of apples in the fridge. There aren’t many.
4	We’ve got much / many / a lot of chocolate! We’ve got ten bars.
5	There are much / some / any oranges in the bag. 
1	Match the quantity words1–5 with the household goods a–e.
1___ 2___ 3___ 4___ 5___
1	roll of			a	juice
2	carton of			b	coffee
3	jar of 			c	chocolate
[bookmark: _GoBack]4	bag of			d	apples
5	bar of			e	toilet paper
2	Choose the correct words.
1	There aren’t any / some / many bottles of shampoo in the bathroom.
2	There aren’t any / are a few / are a bit of crisps in the packet. There aren’t many.
3	We’ve got much / many / a lot of washing powder! We’ve got six boxes.
4	How many / much / some bars of soap are there?
5	There isn’t some / any / much water in the bottle. It’s empty.

